True Positive Rate

True Positive Rate

True Positive Rate

1.0 A r 4
/7
7’
/
/
s
//
0.8 A /
/
/
7’
/
/
7
/
0.6 A /7
/
/
s
/
/
/
0.4 //
/
/
/
s
/
/
//
0.2 P
/7
/
,’ — = Chance
// = Mean ROC (AUC = 0.99 + 0.00)
004 ¥ + 1 std. dev.
0.0 0.2 0.4 0.6 0.8 1.0
False Positive Rate
1.0 /,
s
/
/
/
//
0.8 1 Ve
/
/
7
7
/7
/
/
0.6 1 Vs
7
/
/
7’
/
/7
0.4 //
V4
7
/
7
/
/7
//
0.2 P
s
7
e — = Chance
/’ = Mean ROC (AUC = 0.99 = 0.00)
004 ¥ + 1 std. dev.
0.0 0.2 0.4 0.6 0.8 1.0

False Positive Rate

True Positive Rate

1.0 -
-7 //
/
7/
/
//
0.8 7/
7/
7/
/
/
/7
/
/
0.6 1 /7
7/
7/
/
/
7/
/7
0.4 //
/7
7/
7/
/7
/
7/
//
0.2 /
/7
7/
JRe — = Chance
7 —— Mean ROC (AUC = 0.99 = 0.00)
0.04 ¥ + 1 std. dev.
0.0 0.2 0.4 0.6 0.8 1.0
False Positive Rate
1.0 - ”
/
/7
/
7/
/7
//
0.8 7/
/
7/
/
7/
7/
/7
7/
0.6 1 7/
7/
/
7/
/
7/
7/
0.4 //
7/
/
/
/
/7
7/
//
0.2 P
7/
/7
,’ — = Chance
,’ = Mean ROC (AUC = 0.99 + 0.00)
004 ¥ + 1 std. dev.
0.0 0.2 0.4 0.6 0.8 1.0

False Positive Rate




